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L m( ) cm( ) 1m = 10°cm
M ka(_ ) a( ) 1kg = 10°g
T ) ) :
Tt Hz( ) Hz( ) -
LMT? N dyn( ) IN = 10°dyn
L’MT? J ) erg( ) 1J=10"erg
L’MT® wW( ) erg/s 1W = 10'erg/s
LMT? | Py ) dyn/cm? 1Pa = 10dyn/cm?
1
N (CGSE)
b b b CGSE’
) ) CGSM,
49
= 4n;, iz (2-1)
0
» & ( )) 8.8541878X10712C2/Nm20
F= q;‘fz (2-1)
. : . (2-1)
, o . L3/2M1/2T—1,
: esu, ( )s 1dyn“Zcm.
, esu ©
(1)  1C = xesu;
) (A-1), r=1m, ¢,=¢,=1C , F=8.9875518x10°N;

r=1m=10°cm, ¢, = ¢, = xesu, F

©)

= 8.9875518x10°N = 8.9875518x10"dyn
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B = pH + pM, H

(A-2), : x=2.99792458x10°%
(4)
1C = 2.99792458x10%su  esu = 3.33564096x10°C (2-2)
(2-2) .
. (CGSM)
F= Holilol (3-1)
2nd
T ( ) 4nx10'Nm/AZ%.
21,1,1
F = y (3-1)
) . LYAMMPT,
: emu, ( ), 1dyn*?. emu A :
1A =0.1lemu lemu= 10A (3-2
Tl c( ) L¥MA2T esu* LY M2 emu-s
I Al ) L¥MM2T2 esu/s * LYMAMeT emu
L’MT3r* V() LYMM2T | erglesu* L¥MY™T2 | erg/emu-s
L*MT3[? Q( ) LT (cm/s) ™ * LT cm/s
LM | Y ) LT? cm/s* LT (cm/s)™
LMTE | F( ) L cm* L7 (cm/s) !
L*MT?I? H( ) L'T* (cm/s?) ™ L cm*
LZMTZF Wb( ) L1/2M1/2 _ L3/2M1/2r1 Mx *
MTZ ]—1 T( ) L—3/2 M1/2 _ L—1/2 M1/2 rl Gs*
L A/m LY MY2T2 - LY2pfert Oe*
2
( : esu, emu, * )
: (1) Im=100cm, (2) 1kg=1000kg, (3) 1A =0.1lemu,
o L'MTT,
1 = 10> (emu) (4-1)
) T MT?I, Gs
: 1T = 10°Gs.
( T B=H + 4nM




(4-1), 4, 10e = 10%/4r A/m.

b b

Co b

(2.99792458x10') .
LT, :
1 (esu) = (2.99792458x10%)" (emu) (4-2)
) F L>°M*T'P, cm(esu),
(cm/s?) (emu), 1F = 10°%(cm/s) (emu).
LT? L L7272, 1(cm/s?)H(emu) =
8.98755179x 10%cm(esu). , 1F = 8.98755179x10"esu(F).

1C 2.99792458x10%su 0.lemu-s
1A 2.99792458x10%su/s 0.lemu
1V 3.33564096x 10 %erg/esu 10°erg/emu-s
10 1.11265005x 10 2(cm/s) - 10%cm/s
1S 8.98755179x 10%cm/s 10°%(cm/s)™
1F 8.98755179x10"cm 10%(cnmv/s)
1H 1.11265005x 10 2(cm/s) - 10%cm

1Wb - 108Mx
1T - 10'Gs

1A/m - 4nx10°0e
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( : IMx/cn? = 1Gs= 10e = lemu/cm)

( ) ;
s (A‘B) b
C
= 51
10cm/s S
( (s 2 s (s 2 ) s
[ s vJ eV s
e/C, ° s
) , C( ) 0.09ppm;
ev/ivV o , Js ) 0.17ppm,
evVss , 0.08ppm.
(n.u.) , (o) (7)

1,
m=mec(=hd)=mc*(=ho)=6 =o (6-1)
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(6-2)

) - «C )
eV, m. s. kg eV
2 -1 _
o= )€ ev EVZ(L] e 6-3
g (m/sj (Cj mis) C g €3
-1 -1
1s™ _i(i) eV mvz(ij gt (6-4)
J-s\C J-s) C
-1 -1
1m™ = i.L.(E) eV 1leV = (iLj Em? (6-5)
J-s mis \C J-s mis C
(CODATA 2002) , (e) 0.09ppm,
kg eV 0.09ppm. st eV m' eV )
(h) 0.17ppm, , (K)»
0.09 + 0.17 = 0.26ppm, K, 0.08ppm.
2¢ e
Ky=—=— 6-6
R (6-6)
(6-4) (6-5) :
-1
15 = K ) ey tevon. Ko g (6-4)
n \ Hz/V Hz/\V
-1 -1
mt=2 [ K ) ey =n[ij Ky (6-5)
n m/is\ Hz/V m/s) Hz/V
g, M mkg
’ l) : —0_ — =55 6'3 ~
Fim F C%$° ©3)
£ 1(h ¢\
6-4 6-5 ) 0 = | —.—1, ev )
©4) (63 F/m Cz[J-s m/sj
-2 12
€, h ¢ €, h ¢
=== .~ | (hu) IUnu)=| 0. —. = 6-7
(F/m J-s m/sj (hu) 1nu) (F/m J-s m/sj &7
CODATA 2002 )
1m = 5.06773103(42)x10%V " 1eV* = 1.97326967(16)x10'm (6-8)
1kg = 5.60958895(49)x10%eV 16V = 1.78266180(15)x10 kg (6-9)
1s= 1.51926754(12)x10%eV "  1eV ' = 6.58211915(55)x10 *°s (6-10)
1C = 1.89006713(16)x10"¥(n.u.)  1(n.u.) = 5.29081735(45)x10°C (6-11)
) 0.08ppm
(Einstein) (Planck), :
1(n.u.) = 1 Einstein = 299792458m/s (6-12)
1(n.u.) = 1 Planck = 6.6260693(11)x10*Js (6-13)

(au.)



P _, l&z 1 Lo - Lo .
- th_ ZT_ R &U(rl’FZ’ "”N)_ET(’E!”Z' ’rN) (7-1)
2m, I dne, | T |’”,| 1<i<j<N |1 — j‘
2
s h = me = ¢ = 1,
drne,,
ul 1 Z 1 - - oL -
Z —oVIi-T | z O 5”(”1”’2’ 1rN)—EW(r1””21 7y) (7-1)
i=1 2 |,| Kf<jgNl”[—l”_/‘
e m e*
au)=n = = =—t =
tow=n( Jeml gt =2 )
7-2
ﬁ.47'580( )_h_3 47t80 2( )_me 62 2( )_mf ez 3( ) ( )
m, e m,\ e’ h? \ 4ng, ht \ 4ne,
(7'2) ’ :
1(au.) =1.05457168(18)x10*J5( )
( (Planck))
= 9.1093826(16)x 10 *'kg = 5.4857990945(24)x 10 “amu( )
( (Thomson))
= 2187691.2633(72)m/s = a.-¢( )(a )
( c( ) (Einstein)) (7-3)
= 1.99285166(34)x10 **kg-m/s( )
=1 Bohr = 5.291772108(18)x10 *'m( )
= 2.418884326505(16)x10*'s( )
( (Heisenberg))
= 1 Hartree = 4.35974417(75)x10**J = 27.2113845(23)eV/( )
= 1 Hartree/Bohr = 8.238 7225(14)x10°°N( )
A
Hartree eV kCal/mol * | kJ/mol cmthe GHz:-h
Hartree 1 27.211 627.51 2625.5 2.1947x10° | 6.5797x10°
eV 3.6749x107° | 1 23.061 96.485 8065.5 2.4180x10°
kCal/mol 1.5936x107° | 4.3364x1072 | 1 4,1840 349.76 1.0485x10*
kJmol 3.8088x10* | 1.0364x1072 | 0.23901 1 83.593 2506.1x10°
cmthe 4.5563x10° | 1.2398x10* | 2.8591x10°2 | 1.1963x1072 | 1 29.979
GHz-h 1.5198x10" | 4.1357x10°° | 9.5371x107° | 3.9903x10* | 3.3356x1072 | 1
* , 1Ca =4.184 J.




( CODATA 2002
c 299 792 458" m/'s x10°cm/s
Uo 4r* x10'H/m -
& 8.854 187 82..."! x102F/m -
7 376.730 313..."2 Q -
0 4.191 690 02... - x10%(cm/s)*
e 25 812.807 449(86) o -
K« 2.872 062 1655(96) - x10"%(cm/s)™
ald 1/137.035 999 11(46)!*3 / /
e 4.835 978 79(41) x10“Hz/V -
J 1.449 789 96(12) - x10"esu/erg-s
1.602 176 53(14)™ x107°C -
¢ 4.803 204 41(42) . 10 esuy
h 6.626 0693(11)"* x10%Js x107erg-s
A 1.054 571 68(18) x10*J s x10?erg-s
R | 10973 731.568 525(73) mt x102cm?
R, -hc 13.605 6923(12)1*°! ev -
1g® 9.274 009 49(80)" x 10T x10%erg/Gs
a," 5.291 772 108(18)1@! x10™"m x10%cm
m, 9.109 3826(16)1™ x10 kg x10%g
m Jamu 5.485 799 0945(24) 10 x10™
m,-c? 0.510 998 918(44)1 x10%V -
m,Jamu 1.007 276 466 88(13) / /
m,-c? 938.272 029(80) x10°%eV
mJamu | 1.008 664 915 60(55) / /
m,-c” 939.565 360(81) x10%V
amu 1.660 538 86(28)!! x107kg x10%g
amu-c? 931.494 043(80) x10%eV -
N, 6.022 1415(10)!* x10”mol ™ x10%”mol ™
e 96 485.3383(83)> C/mol -

2.892 5576 72(26) - x10%esu/mol
ke 1.380 6505(24) x102JK x 10 %erg/K
o 5.670 400(40) x107 8W/m?K* x1078W/m?K*
RM 8.314 472(15) Jmol-K x10"erg/mol-K

G 6.6742(10) x10™"m¥/kg-s x10%cm?®/g-§
g 9.806 65 m/s x102cm/s*
atm 101 325* Pa x10dyn/cm?
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(1] Re=3°
eZ
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h
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[8] F=eN,
o 5k
9 o= fe
O o =152
[10] R = ky N,
[11]~[23]

[11] &, =

T
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[7]

Qg
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Ho€
[12] Z, = pe

C

= 1852 m*M
= 1.495979x10° m™@
= 9.4605284x10" m"®
= 3.085677x10' m!“
Ca(Th) (

e

[ 1/60

) = 4.184 J*

) 6080

[2]
[3]

= X (
a,
(Gm = 3.986004418x10"
a’ _ G(M +m)
T2 4n?
[4] = *
[9] : 1 HP (metric) = g(

[6] : 1 = 1atm(

¥

b

)
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Z
[13] o = =2
2R

K

4e ,co

[14] e=

2e
151 h=—
[15] e

J

R,-hc 2cR,

e

[16]

_ COL2€

SR

0

[17] ug

a
18] a, =——
(18] a 4R,
16e,R

2
J

m,-c® 4cR
e a’K,

0

[19] m, =

[20]

[21] amu=—""
m,/amu
_ 0.001kg/mol
T amu
ca’K ,(m, /amu)0.001kg/mol )
4R

0

[22] N,

[23] F =

1Ca(IT) ( ) = 4.1868 J*
1 HP (metric) ( ) = 735.498... W
1 HP (electric) ( ) =745 W*
1 = 9.80665 Pa”

1 = 133.322... Pa®

) x 2m + 21600 = 1.8532
1.8532 );

)

¥
)

(GM = 1.327124x10%°
(T = 31558150

2) .

(2r/1296000).

) x 75 kg-m/s
) + 760
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in. ( ) 0.0254 m
ft. ( ) 121in. 0.3048 m
yd. () 3ft. 0.9144 m*
mi. ( ) 1760 yd. 1609.344 m
a ( ) 4840 sg. yd. 4046.856 m?
C )
ar. ( ) 64.79891 mg
dr. ( ) 1.77184520 g
oz. ( ) 16 dr. 28.3495231 g
Ib.( ) 16 0z., 7000 gr. | 0.45359237 kg*
short cwt ( ) | 1001b. 45.359237 kg
long cwit ( ) 112 Ib. 50.802345 kg
short ton ( ) 20 short cwt 907.18474 kg.
long ton ( ) 20 long cwt 1016.04691 kg.
C )
oz. ( ) 31.1034768 g*
C )
oz.( ) 28.413 cm®
g.( ) 50z. 0.142065 dm®
pt. ( ) 44l. 0.56826 dm?®
at. ( ) 2 pt. 1.13652 dm®
gal. () 4 qt. 4.54609 dm**
pkK. ( ) 2 gal. 9.09218 dm®
bush. ( ) 4 pk. 36.3687 dm®
( ,
agl. ( ) 0.1376526178394 dm®
pt. ( ) 44l 0.550610471358 dm®
at. ( ) 2 pt. 1.101220942715 dm?
pk. ( ) 8 qt. 8.80976754172 dm®
bush. ( ) 4 pk. 35.23907016688 dm®*
C > )
oz.( ) 29.57352956 cm®
al. ( ) 4 0z. 0.1182941182 dm®
pt. ( ) 44l 0.473176473 dm®
at. ( ) 2 pt. 0.946352946 dm®
gal. ( ) 4qt. 3.785411784 dm®*




